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MO BEE R B Edms o (Bl 7,2,6,4,1%{7,2,6}, {641} %x8%E
Hraad o 12{2,6,4} R Eiramb ) -

[%%m%])
FxSABE G NEB R B a,,a,,a,,a,,4a, °
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Case 1. {a,,a,,a,} R EE AL -

#Zla,a,,a,} REMEAL > Bla,,a,a,,a,a, %8R- FE L {a,,q,a,}Fv
{a,,a,,a,} &R BB 545

B3 > 3% {a,,a,,a,) BEMKES > Ala,,a,,a,,a,a F5FFK -

Wik 0 #{a,a,,a) 0 {a,,a,,a,} B R B BN ASE 0 RBla,a,,a,,a,,a, 75 TR

e

Case 2. {a,,a,,a,} % B iy4a 5.

#la,a,,a,) AN EE > Bla,,a,a,,a,,a, 754K

B3 > #{a,,a,,a} REMEE > Ala,,a,,a,,a,0, F&5FFK -

wik 0 % {a,a,.a 0 {a,a,.a0.} & R A BT EE > Bla,,a,a,,a,a, F 5P K -

AU L3R A —RPETIH K -

i

N\
—
—

KB —@F#H a, bEiF
chrb.aerbz<a3+b3
2 2 2

(2) %9 $WEEFH a, b, FTHAREXIERIL:

a+b a’+b’ a6+b6<a10+b10

2 2 2 T2
[4#m%]

(1)
a, b RIS, m, n Far AR B 2R EY
am +bm . an _‘r_bn - am+n +bm+n
2 2 2

L NHIASEAHAT:

0<2(@™™" +b™")—(a™ +b™")(a" +b")
0<(@@" -b")a"-b")

(2) mn [FJFSATHL
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Fia>b, H] a" >b",a" >b" = 0<(a”" -b")a" -b")
Fia<b, H] a™ <b",a" <b" = 0<(a" -b")a"-b")
(b) mn [FFEE, E m=2s, n=2t
fia® =b*, HI (a®) 2(1%),(a®) = () =
a"=>b",a" >b" = 0<(a" -b")a"-b")
Fra® <b?, Hl (a®) <), (@) <) =
a" <b",a" <b"=0<(a" -b")(a"-b")

a+b a3+b3<a4+b4 a* +b* a6+b6<a'°+b'°

2 2 2 7 2 2 2
a+b.a3+b3.a6+b6<a‘°+b'°
2 2 2 2
(2) a=1,b=-3
1+(—3).12+(—3)2:_5>13+(—3)3:_13
2 2 2
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